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Note © —  Answers may be written either in English or in Hmd1, but the same medium should

§
be used throughout the paper.
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- Attempt fi ve _questions in all.
Al quest_ions carry equal marks.
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1. "(a) _Describe Keynes's Psychological Lax_v of Cohsufnption. Explain the determinants of

proﬁensity 10 consumie. 10
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{b) . Distinguish between the marginal propensity to save and.average propensity to save. 5
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Explain the determination of equilibrium level of income in'a two-sector model of thy

economy using the aggregate income and expenditure .approach. . : - 10
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Sdppbse the consumption function is 'given as under : ' -5
C=50+075Y
(i)  Wnite the corresponding saving function, -

(i) .1f the autonomous investment with thé above consumption function is Rs. 200 crore,

then at what level of income, sav-ing is equal to investment-‘?
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C = 50 + 0.75Y
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What is investment multiplier 7 What is the. prc;cess of multiplier 7 10
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What will be the change in income if the change in investment is Rs. 1000 crore and
MPC = 0.75 2 | : R s
% frdw 9 1000 FE T F TG A ¥ S MPC F G 075 ¥, 3 U
o § feam o @m0 | o



( 3 | ) - 46l8.
Show with the help of suitable diagrams that Aggregate demand s-ﬁocks ¢ause the price feve]
and real GDP to change in the same direction while agggregate supply shock cause. the pri%:e
level and real GDP to change in the opposite direction. ' | o A- 7'./2+'_/”/_2.
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_(a)' Explaiﬁ the three motives of ho;ldin'g money in detail. 10
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| (b) .'E)-(plain the cloncept of "Liquidity Trap'. o 5
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Discuss Fislier"s quantiﬁ theory of mone_\-'. Do vou think that changes in mc)ney supply always'
lead to proportionate change in the level of pnces ? Explain. ' 84:7
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| De;iye IS and LM curves. What is the effect of shift in LM ci;rve on GDP and ral;e of
ir_utérest ? o . - 10+5
IS @ LM @ & S (Derive) @@ 1 T 2 LM&%ﬁ@maﬁﬁz GDP

qe = € WO W9 S § 7

P.T.O.



(4 )
Write.shoi‘i notes on anv mo of the following :
(@) Net Export Function

(5) _Compoﬁents of Money Supply

(&) Fiscal Policy.
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